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1.
A zero-coupon bond with face value $1,000 and maturity of five years sells for $746.22. What is its yield to maturity? What will happen to its yield to maturity if its price falls immediately to $730?
2.
A 20-year maturity bond with par value $1,000 makes semiannual coupon payments at a coupon rate of 8%. Find the bond equivalent and effective annual yield to maturity of the bond if the bond price is:

a. $950

b. $1,000

c. $1,050

3.
Assume you have a one-year investment horizon and are trying to choose among three bonds. All have the same degree of default risk and mature in 10 years. The first is a zero-coupon bond that pays $1,000 at maturity. The second has an 8% coupon rate and pays the $80 coupon once a year. The third has a 10% coupon rate and pays the $100 coupon once a year.

a)
If all three bonds are now priced to yield 8% to maturity, what are their prices?

b)
If you expect their yields to maturity to be 8% at the beginning of next year, what will their prices be then? What is your rate of return on each bond during the one-year holding period?

4.
It is now January 1, 2009, and you are considering the purchase of an outstanding bond that was issued on January 1, 2007. It has a 9% annual coupon and had a 20-year original maturity. (It matures on December 31, 2026.) There was 5 years of call protection (until December 31, 2011), after which time it can be called at 109 (that is, at 109% of par, or $1,090). Interest rates have declined since it was issued, and it is now selling at 114.12% of par, or $1,141.2.

a. What is the yield to maturity?
b. What is the yield to call? 
c. If you bought this bond, which return do you think you would actually earn? Explain your reasoning.
d. Suppose the bond had been selling at a discount rather than a premium. Would the yield to maturity then have been the most likely actual return, or would the yield to call have been most likely?

